
Why is it important that the mouth and stomach are near the start of the
digestive system? thx
Answer: To complete the process of digestion after the food is ingested by mouth.

Explanation:

The food that we eat is ingested by mouth and here the mechanical degradation of food takes place. This breaks down the food into smaller pieces.

Mouth also contains the enzyme that is responsible for the digestion of starch.

Then the food from the mouth reaches the stomach where various types of digestive juices and enzymes are secreted to digested the food.

Hence, mouth and stomach must be near in the digestive system.

Because the mouth breaks down the food and the stomach uses acid to break food down even more
But when a long train of abuses and usurpations… it is their right, it is their duty, to throw off such Government, and to provide new Guards for their future
security. Read this passage from the Declaration of Independence. Which of the following actions does the passage justify?
Raquel attended a volleyball game that began at 9:30am and ended at 11:45 am she began her lunch at 12:00 pm and ended lunch at 1:00 pm. how much time
raquel spend at the game and lunch?
How many cups has a 4 gallons of milk
Common situations for unethical behavior at work include all of the following except a) discrimination.
b) sexual harassment.
c) favoritism.
d) conflicts of interest.
What is the group of organs that removes waste from the blood and excretes it from the body?
8. What Spanish possession did the United States purchase under the Treaty of Paris?
A the Philippines
B Guam
C Cuba
D Puerto Rico
Tina Thompson scored 34 points in a recent basketball game without making any 3-point shots. She scored 23 times, making several free throws worth 1 point
each and several field goals worth two points each. how many free throws did she make? how many 2 point field goals did she make?
Phosphate Group



Nitrogenous Base
Pentose Sugar
molecule. What is it the monomer of?
Which are ways American farming changed in the late 1800s? Choose all answers that are correct. a. dependence on railroads and banks b. less competition
from foreign countries c. more varieties of crops grown on each farm d. new equipment for farming larger farms
Assumptions and beliefs are learned responses to problems that are valued enough to pass on to new members through both the formal and informal
socialization processes.
A third degree polynomial equation with rational coefficients that has roots -4 and 2+i
A success of the Articles of Confederation was that it a. created a strong federal government.
b.established a national army.
c.established land ordinances.
d.abolished slavery throughout the nation.
Determine the number of possible triangles, abc, that can be formed given c = 85°, a = 10, and c = 13. 0 1 2
Why the small Mexican untied army was able to win the battle against a large army
Mike’s intent to rob the bank satisfies which of the requirements for conviction??
What is the image of (-9, -1) after a dilation by a scale factor of 2 centered at the
origin?
Who built intersections in the us and why
Write the mrna base sequence that would result from the transcription of this segment of dna
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